Quadrilateral Proofs HW —Ansug2s Kh(_

Given: Quadrilateral 4BCD with diagonals AC and
BD that bisect each other, and /1 = £2

Prove: AACD is an isosceles triangle and A AEB is
a right triangle

> K
& Bl and BO biseceY each oter ) Given
Ll B L2

NV Quad Ev&_.“rugn;b M ad biscet Cacia
3) Oge- sidts oF a parailelogr mm ace ff

2) ABCD & & parmlllogram
uu in D, B/ AD

LJ L= A , L2 = £7> Lu Whwer [Aes e \\\ At 2's =
S = S h ,
v L= LY uu TvansSirhve muso?\f (or msﬁcw\i?.fny)d
ﬁ& AD & Dc Cu In o A St s ©pp Z L' am =
o |4W Dn@.v:m\ Wﬁunﬁmn\«\ffw .\_M A ispseceles N hgs 2 sides
B) ABCD s adnombus Ny T — = — -
J A a vhomisuy mv> ?»5»?0_00,191 W one pair e \.L,.? e
s - Dnu»gT Siohts (s a ﬁSO.?.,Ufu a
| agonals 07 o rhombus s L
A s _ .
Jou LBEA s »ju,.i\ L _OV L ovnes foren it L'y

B DREB 5 4 yiget A ") A gt A ves one gy L



